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1.(20%) Answer the following questions.
(&) Which of the modulation schemes, PSK, FSK, AQKM, do you prefer to use in the case

passband data transmission over nonlinear chaieseribe your reason(s). (10%)
(b) Compare the advantage(s) and disadvantagd(gsg¢de BPSK, QPSK, and OQPSK schemes.

(10%)

2.(20%) Given thatX t(F A, cosf2t+0®), where f. is a constant and® is a random variab

uniformly distributed over(-7, 1), that is

£,(0) = E, -t<O<T
0, esewhere

Please answer the following problems:

(@) I1sX(t) wide-sense stationary (WSS)? Why? (10%)

(b) Calculate the power spectral density (PSD) tionoof X(t). (5%)

(c) Calculate the average power delivered tb-& resistor fromX(t). (5%)

3.(20%) If the Linear Predictive Equation is detirees below:
n =dl{n-1]+a2}n-2], n=1, 2, ..., 200.
Please find the optimal equation afL” and “a2”.



4.(20%) Please draw the flowchat of REGISTER andITNE commands for SIP protocol.

5.(20%) A system for detecting signats(t) and s,(t) is shown below, wherén (t) and h,(t)
are matched tos (t) and s,(t), respectively.

(a) Sketch impulse responses of the filtdrét) and h,(t) , respectively. (10%)

(b) Sketch the waveform at output 1 ¢(t) is applied as the input signal. (10%)

A

L s() s, (t)

h(t) ——— outputl A A

input T,/2 T,

h,(t) —— output 2 A

Fig. 5



